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I Analyzing exclusion of »97p1 wTpn RNYN in “a Mwn — excluded from "5n owr
Question: why not add anyone who has had 2"ny pass since their “»min 85 (3”nv is 190n)
571. only exclusions mentioned are where there is a nRon if certainly done; if 3”ny passed — no nxon either

a
b
C

7217 71 in case he rejects 2"nv, claiming it doesn’t 793n; if he regains his respect for 2"nv afterwards, 27n in 5N DwWR

i
ii

577. even in that case, he is exempt
Note: this parallels dispute 827/7ar about efficacy of a nkon brought for one who denies its ability to be 1931
1  Proviso: they don’t dispute a case where he doesn’t want it to be offered — v. 1 stipulates 1mx1%
2 But: they disagree where he wants it brought, without n193
(a) 7an doesn’t cleanse, as that was his determination
(b) &a7 since he wanted it brought, n193 comes of its own accord

(i) Not: ®a1 recanted, per his resolution of 2 passages in X712, one not allowing for 2”7y n193 for those who

don’t do n1wn (per R — v. 2) the other allowing for n193 even for naw ¥R

1. Note: 022w 18/D2vw interpreted as declaring that the nkon will/won’t be 1951

2. »aN’s resolution: one is 723 per N ', other is »27 represnting his own opinion
a. 2275”7y cleanses all but a few egregious sins

3. 8275 resolution: both are »17; stringent position is a case of violating >"n itself
a.  Proof: else, how could there ever be n13 of 5”0y — it would immediately cleanse
b. Answer: theoretical scenarios (e.g. dying while eating) where it could still hold

I Analysis of o’non’s exception of 9Tan
Question: why does the mwn add qr?
Answer: onan heard that ™ only mentioned 218 5pa, without »y1, and retorted that if he excludes »nmy1 from 127p
because there is no nwyn, he should also exclude 9T, as it also has no nwyn
NP273 9™ - qTan brings a 1277, as he gets 13 (1'1n1) and it states yron xRN (v. 3)

a

b

i
ii

iii

Challenge: this rule doesn’t hold; nva and n%n both have n93, yet there is no 129p brought for violation »wa
Rather: since n13 is written (for qTan) in the nw19 of nrYN (Y0 727P1) = 9Tan brings nron 129p

1 But: citation of WRvn RwN supports 1317’s position (i.e. he bears his sin — and no 7195 available)
Background: y" asked n'naon what the purpose of n13 being written in re: 9Tan, if not for nxron

1  Answer: to establish n3 for Y9pn, via noa 129p (v. 4)

~n2772 interpretations of "yman” (v. 5)

i
ii

17 12 2028 like cleaning out a vessel and diminishing the vessel itself —i.e. 'n nX T1an
y7anT. like clearning out a vessel without diminishing the vessel —i.e. nar nmay
1 Parallel ¥r77392 interpreting 'n nR in v. 5 (¥”aR7 — 191 NTY; 0NN — cursing 'n)

I » mwn: M5 who (in spite of miscarriage) bring n15» 129p which is eaten
Formed: if it has non-human form, dispute D’nan/n"

a

i
ii

»n77. if the foetus had the form of a mammal or avian
orporr must have human form

formless: if it has no form, or a sac, or has form-construct, or comes out in pieces

Anow. if a nnv1d Nnaw births per v. 6 — YR 11 is expanded to include nnawy N7 via "nWR”

i

Question: why give nnaw as the example in our mwn?
1 Answer: R"10 only those nn¥n which are equal to men and women are nnaw/Tay obligated in — Y"np
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IV 7 mwn: M1y who (had miscarriage, and therefore) bring but it isn’t eaten

a

b

Unknown: if she miscarried but neither she nor anyone else knows what she “birthed”
2o0: if 2 women miscarried, one a 2yn-category (3 nwn) and the other an exempted category (0 nwn) — not sure which
i ’pp 7. this is only the rule if they came from different directions and came to wTpn separately
1 But: if they are together, they bring a single j27p which is eaten
2 Explanation (870): they each bring 9n n%y and 1 9wn nron, which they offer with stipulation:
(a) If: Mrs. A is na»n, her nY is the N2 and the nron is hers and Mrs. B’s n%W is nam (and the inverse)
(b) Challenge: »ov "1 doesn’t allow for such stipulations
(i) Per: case where one of two women ate 250 (n:n min’3)
1. w7 they bring one nron w/stipulation
2. »py 7. they cannot bring one together
(c) Answer: v "1 doesn’t allow in case of ®on, as owner must have awareness of his sin (v. 7);
(i) But here: it is just to allow them to partake of Dw1p (supported by o1 "v’s explanation ibid n:n)

V  n mwn: m19r who (miscarried such that they) do not bring at all

a

b
c
d

Sac: filled with water, blood or miscellany

Form: if it looks like fish, rodents, locusts etc.

Time: if she miscarried on day 40 (or before) from conception
C-section: exempt, but v obligates

i Reason: v. 8 — "19n” extends to “alternative” birth (1917 Rxv)

ii 37 v. 6 -y - only obligated if she births from place of ny»1

VI 1 mwn: dispute n”2/v”"a re: woman who miscarries on 80 night after birth of girl (night before she brings n15y 129p = eat »wTp)

a
b

C

v’z only one nT>y 129p (for original birth); she didn’t yet have any time fit for n75v 127p
71”2 separate obligation for this n; she already completed her nxmv (after n%av and wnw nxoa)
Argument (773): if her 81t day fell on naw, she wouldn’t be able to bring 127p, yet she would have new avn
i Block (w72): maw is fit for 1% 127p, nighttime isn’t fit for any 127p
1  And: can’t use 07 (if she saw 07 on 80" night, she’d be nknv) as counter, since even if she miscarried
during 1mv ", she’d be nknv but wouldn’t be liable for a new j21p
~Nn272 0”2 argued from nav W (v. 9) that that extends to 80t night (i.e. nmon of 2120 NN)
i question (mywin “10f 81977 13, after leaving him for 11 77): based on n"2’s position, if a a1 sees 3 NRY on 7t night — 27n?
1 lemmal: is n"2’s reason based on na% 1 — which is limited to n1>» — OR
2 lemma?2: perhaps it is based on the argument in the mwn and applies equally to ar
ii  answer (8197 73, citing 8117773): reason is due to 2130 N and it doesn’t extend to ar
1 proposal: this follows oRin npynn who disagree whether ar who sees 3 nvXk1 on 7t night brings 127p
2 rejection: they all agree that jnt 901N 1% (i.e. not yet considered “8™" day”), cases are different — if he saw 2 or 3
(a) challenge: if he only saw 2 before (=»no 1277 as of yet), it is obvious that these 3 generate avn
(b) answer: teaches (by inference) that if he saw them on afternoon of 7t, exempt — as nImo n”XR1
(c) challenge (x27): if so, this case should be taught in context of those who bring 1 129p for multiple violations
(d) answer (9o 37): per Ny ", it isn’t always the case — if he saw 2 at night, 1 the next day, not q7vxn (rationale)
(i) challenge: 13y 1 doesn’t hold 1nt 701N n9Y (per his ruling re: »nY Y51 RNVIV 1)
(ii) answer: he was stating the ruling re: N2>t for the position of 1nr 70NN N%H
(iii) challenge: the ruling is obvious (a: needed for 1 at night — 8”10 they aren’t 97030 — 9"np)

VII 1 mwn: multiple n9y ninavp

a

b

if: a woman owes multiple nmipav (N9 or na’t) — brings one and owes nothing

but if: a woman owes multiple R (N9 or N’1) — brings one and owes the rest (but may eat »w7p after 1)

i story: with »"av1 teaching no obligation, even in case of multiple mam, to force prices down

~n272 if she has multiple mpav AND multiple m&Tn, she brings 2 nests, 1 eaten; owes the rest of mxT only

i y”rinany case, if she declares that the 1p is for any of them, she is fully exempt

ii 2727 if she declares that she is bringing & for the last birth — exempt; if mpav, if there is a 'R there, she should
declare that she is bringing for xR and owes nothing more; if only mpav, declare it is for any one and she is 7109
1 analysis (837 ow2 »7377): 12" compares them to nron, »" to m»av

(a) challenge (97): if »"237 compares to nron, how is she exempt if she declares that pav is for any of them?

2 rather (97): both compare it to m%2v; 12 is concerned about NY’wa (might not bring for next NY); wwin 1R ™
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